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Before answering the questions, ensure that you have been supplied the correct and complete question paper, no claim
in this regard, will be entertained after examination.

General Instructions: AT foVaer

Read the following instructions very carefully and stricly follow them.

(l) Question paper comprises five sections A, B, C, D, E and F. There are 40 questions in the questions paper. All questions are

compulsory.
(ll) Section A-Question no 1 to 20 are Objective questions ( 1 to 20 -multiple choice ) carrying 1 mark cach.
(iii) Section B-Question no 21 to 28 are very short questions, carrying 2 marks each.
(IV) Section C- Question no 29 to 36 are case study and medium questions carrying 3 marks each.

(V) Section D- Questions no 37 lo 40 are long answer type questions, carrying § marks each.
(
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Wi 1. AR AT AT & 3EgE &l ¥ 7
() SileT AEAA (@) HeIcHT i
(3N WER v (@ W EHFaw
Ques 1. . Who was the Chairman of India-Pakistan Border Commission?
(a) John Simon (b) Mahatma Gandhi
(c)Sardar Patel (d) Sir Radclifie
WY 2.9 A Ueh gl ol WISl & 497 Tl AT § § 7
(®) §EH T (@) 9iEd “&®
(FMHBICHT FITelT (€ W FEIE IEET
Ques.2 Which leader started the era of dominance of one party in India?
(a) Sardar Patel (b) Pandit Nehru
(c)Mahatma Gandhi. (d) Lal Bahadur Shastn
Wi 3. AR # A% INAF A qF 5 55 ?
(%) 1985 & (@) 1991 A
(1980 A () 1992 &

Ques 3.. When was the new economic policy started in India?
(a) In 1985 (b) In 1991

©)in 1980 (d) In 1992
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WA 4.5 709 & 2\ 9T 891 A ®iF 87 3iehE oemr ?

(@) e o (@) Hoo |

(M3t e (@) & ¥ BE Al

Ques 4.Which operation was conducted by the Indian Army during the Kargil
conflict?

(a) Operation Vijay (b) Operation Surksha

(c)Operation Shanti (d) None of the above

mﬁ.ﬁﬂ'ﬂ'ﬁrmﬂ'gm

(%) 1964 (T 1969
(7)1970 () 1971
Ques 5. When did Congress split?
(a) 1964 (b) 1969 (c) 1970 (d) 1971
WR 6.1967 H "HIGT T 40 [ Apa & A e T # g
() T WS (@) 3 Wz
(meEREmT (@) faer
Ques 6. In which state was the phrase ‘Aaya Ram Gaya Ram’' born in 19677
(a) Madhya Pardesh (b) Aandra Pardesh
(c)Haryana (d) Bihar
W 7. AR SReT T o ey F9 §F ?
(%) 31 Hegal 1982 (T 31 LT 1984
(71)31 3T 1985 () 31 ¥agal 1986

Ques 7. When did Mrs. Indie Gandhi die?
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(2) 31 October 1982 (b) 31 October 1984
()31 October 1985 (d) 31 October 1986

Wl 8. 1984 # IR = WX & I 7 Iomr a@r?

(%) faew (@) 9 (M) A (a) 3=rHr

Ques 8. In which state was Operation Blue Star conducted in 19847
(a) Bihar {b) Punjab
(c)Haryana (d) Odisha

Wi 9.3y - fewrat, 1992 & [@nar (@l Afeag & 9 & o=l orar ) # faarfed e
& gy A &% HeA3 & AT 53|

HHUL- AS, 1991 7 Tolg dr Y Gear & ST S I & #ded A dgold HAT|

() HiFwaa 3T FRor ST Ay & T FRer 3w & W S #:ar ol
(@) 3T AR FReT AT WET § i SR HiiEE 6 WET SurEn JE S|
(M) FFFUT T ot FHOT TET B

() NI WE & W TR 9 B

Ques 9. Assertion:- In December 1992, Ayodhya (Babn Masjid.In the demolition
of the disputed structure in.Many events culminated.

Reason:- Due to the assassination of Rajiv Gandhi in May, 1991, there was a

change in the leadership of the Congress Party.

(2) Both assertion and reason are commecl and the reason explains the
assertion comeclly.

(b) Both assertion and reason are comecl but the reason does not explain
the assertion corrrectly.

(c) The assertion 1s wrong but the reason iIs correct.

(d) The assertion i1s correct but the reason is wrong.
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wee 10. TF fFEeY &g, “AREd A ST Wady Agcage & B

(&) STAENRT Do SN (@) T AT WM ATTOT
(meErHdsE CRIEGE $a

Ques 10.Who said, “Caste is the most important party in India."”
(a) Jagdish Chandra (b) Sav. Jai Prakash Narayan

(c)Or Ambedkar (d) Pandit Nehru

One word questions 1x5=5
= 11. & UF areieha 31 & @17 aa10]

Ques 11. Name any one Balkan country.

w12, faas 7 oy & ariae &)

Ques 12. How many countries are included in ASEAN?

W 13, THESE. & 9U A7 o

Ques 13. Write the full name of S.E.Z.

3T 14. E‘I‘fﬂ'ﬂﬁﬁﬂﬂﬂﬁﬂzﬂ?ﬁrgﬂﬂ

Ques 14. When did the Soviet Union disintegrate?

W 15. SR (WIF) 1 FETod Fel U ¢?
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Ques15. Where i1s the office of SAARC located?

g HEew- 1x3 =3

True { False:-

Wi 16, {OE g 69 & WL # 128 035 o
(Hca/3HcT)
Ques 16. There are 128 articles in the Charter of the United Nations.
(True/False)
93 174 U {0 T8 ol
(TeAf3THe)
Ques 17. NATO is a military organization.
(True/False)
S 18, WA Hed & Awaonarg & fandr w1 &)

(T TAET)

Ques 18. India has always been opposed to humanism.

(True/False)
Red v - 1x2=2
Blanks :-
WA 19, HNA & T &1 U HET HHO IHB SIHHET &
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Ques 19. One of the main reasons for India’s poverty Is ils

population.

g 20. acE WRE FRA $T aEer 5% 2001 H E¥l

Ques 20. The first meeting of the World Social Forum was held in
2001.

2x8=16

o3 21, AT T e A? gEeg e & al A 3Aad TECHIT @ Sedd Hifel)

Ques 21. Who was 'Seemant Gandhi'? Mention his view regarding the two-
nation theory.

g 22. AT Y Eeid TUerdr & T & o S

Ques 22. Give any two characteristics of the party system of India.

U 23. Wi 9 & 3T A WA 6l

Ques 23. What do you undersiand by privy purse?

WA 24, AUAGY SEAITEET § Fr AR B
Fyar
Sfetr amdl & HJER WIS & E9OT S HEY FOT aar ur?

Ques 24. Whal is meant by ‘commitied judiciary’?
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OR

According to Indira Gandhi, whal was the main reason for declaring

emergency?

W3 25. Gia 9did =qerl @ gl §iiadl aand|
Jrear

Ay v & & A foay
Ques 25. Mention two disadvantages of bipolar system.
OR

Write the names of Central Asian countries?

U3 26. AT (GEIH) @ TYAT & FI5 &7 Igawd WA

Ques 26. Wnte any two objectives of eslablishment of SAARC.

W 27, B HAWSST JaAT F1 Hrarasar #4795 £7

Ques 27. Why do we need international organizations?

Wil 28. favg & HAeseoiaer & oar AW g

HHdr
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HydeRtoT F AT &= AT B

CQues 28. What does 'McDonaldization’ of the world mean?
OR
What do you understand by globalization?
Ix8=24
W 29.45g feHoT T Jrat & gl T & e 399 aaie]

Ques 29. Give three ways to remove the obstacles to nation building.

W 30, A A TS Y e w46 e g
3rymr
s e & i der w Y PR
Ques 30. Why was the need for planning felt in India?

OR

Write any three functions of Planning Commission.

W 31, 1975 7 HOaed $7 €607 & & S5 O ST aa7e]

Ques 31. Give any three reasons for declanng emergency in 1975.

W 32, TSAUA TR & &4 3T B

Ques 32. What is the meaning of coalition government?
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i 33, 89T WAl & @l & o 303 adiv|
Hyar
HG- 9 AT Rarg @=4r §7
Ques 33. Explain three objectives of forming regional organizations.

OR

What is the India-China border dispute?

i 34, ot AN ofFeee § @iv oo § 712 2 w e Wd

Ques. Write any two reasons for tension between India and Pakistan.

g+t 35. RduiaEr (@i g F g wr wEEa £
Irar
Rva @i @ (WTO) war &7
Ques 35. What do you understand by veto power?
OR

What i1s World Trade Organization (WTQ)?

93 36. dfdad 69 & fAuea & #i5 2 «er [AEm

Ques 36. Write any two reasons for the disintegration of the Soviel Union.

ox4=20
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WA 37, WA @A - TArderar € Afar o wuant & geg Frer g 47
e
SR &1 fagyr AT & wae Tt v segrat & avie A

Ques 37. What were the main reasons for India adopting the palicies of non-

alignment?
OR

Describe the main goals and objectives of India's foreign policy.

W 38. MR A e gelt & B & FRol & fAdaa fifa)
Hdr
efeqr el &7 goar o fiw RBER & o s | WE)
Ques 38. Discuss the reasons for the development of regional parties in India.

OR

Wrote brief noles on the assassination of Indira Gandhi and anti-Sikh riots.

Wi 39, 9HEeT FEOT & i 3urt & adie &)
JHdr
qafiateT WeHYT & T STEr Acdl o avie wl
Ques 39. Describe various measures for environmental protection.

OR

Describe the elemenits responsible for environmental pollution.
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W 40. SO & alegE T Fr 7 dvdeer A et & ave S
T
ddietuT & TBT A T dlfee

Ques 40. What i1s the literal meaning of globalization? Descrnibe the main
features of globalization

OR

Argue in favour of globalization
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GO IECD]

Answer Key

R 1. (F) A9 GE3AA
Ques1. (a) John Simon
T 2. (@) 93T AT
Ques 2. Pandit Nehru
W 3. (@) 1991 #

Ques 3. (b) In 1991

WA 4. (F) IR Rew
Ques 4. (a) Operation Vijay
WReT 5. (@) 1969

Ques 5. (b) 1969

R 6. (1) FRAON

Ques 6. (c)Haryana

R 7. (@) 31 IFFCa 1984

Ques 7. (b) 31 October 1984
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R+ 8. (@) 99
Ques 8. (b) Punjab

W 9. (@) @) #FFYT 3R FRr g WG & AR FROT
HTAFYT T YY1 ATEAT Apl HIAT

Ques 9. (b) Both assertion and reason are correct but

the reason does not explain the assertion correctly.
R 10. (@) . A THRT ARIT

Ques 10. Sav. Jai Prakash Narayan

R 11. Heari=r

Ques 11. Albania

R 12. qH

Ques 12. Ten

TR 13. FIAA FPAED A=

Ques 13. Special Economy Zone

R4 14. 1991

Ques 14. 1991

WA 15. FI0A13 (F91e)
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Ques 15. Kathmandu (Nepal)
9 16. FEH

Ques 16. False

WA 17. €4

Ques 17. True

=T 18. ITA

Ques 18. False

W 19. O

Ques 19. Stubrun

TR 20. FTSie

Ques 20. Brazil
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Wi 21, GdA WihEd & 9REEA @A Wed & WAidare A @ Hege TR @i df
HAT T &gT Srar An § gfaary ey #F Bewd o a8 A F it 0 g & &
I4th Wed & Wiged 7 miAw fSar o

Question 21. Khan Abdul Gaffer Khan, the undisputed leader of the North-West
Frontier Province of present-day Pakistan, was called ‘Frontier Gandhi', He did
not believe in the ‘two-nation theory’ at all and did not want his province to be

included in Pakistan.
W 22, 1. mﬁa'g-mmrrt
2. ¥ A TSR gall # 3ATE dead o 3N &)
Ques 22. 1. India has a multiparty system.
2. There is lack of internal democracy in political parties in India.

T3 23, 28 FrarEal & sa A A9 & §AT Ag T3 A S e §F 95 3naras fear
ur B & fARaa amr & fsh Jufn @ 86 AN 3 WER & AW 50 e o T e
el araer @ o A gRure $fF 9f Fgand 6

Question 23. At the time of merger of the native princely states into India, the
Government of India had assured their rulers thal they would be able to keep
a certain amount of personal property and they would also be given some

allowances from the govemment. These facilities received by the native rulers

were called Privy Purse. Was.

Wi 24. Guddcy ~dEdidE § GA ARV 30 adiaa § gidl &, St @9Ee g o Wi
FisamanT gich & 3 S 3as Adat va sndat & wgan Ao &t 81 59 wei T i
AweHl @ Haar Fada I Frem 9 & ag), afes waee ad & EERUR & SR S 6

Question 24. By commitlted judiciary we mean thal judiciary which is loyal to
the ruling party and which gives deasions as per iis insiructions and orders.
This type of judiciary does not decide cases independently and impartially, but
according to the ideology of the ruling party.

@ Scanned with OKEN Scanner



Iar
OR

WHE FOT A 1. 5feqr 7T & SiF WA O &Y SAIREIE 3od fATATEd A U @usdis o
12 5, 1975 & dv AT & o o, foww and w1 39§ @ v ofF &

2. Ftd FAEY & @AY 3 Fe F ag, el g siegn ot & o oiee &7 i e T

) 3. R & ey A 9. WS SR 7| S YR ARE & Aqed A e wEE A
& de TN & ey R o g an|

1. Indira Gandhi's Lok Sabha election was declared illegal by the single bench
of the Allahabad High Court on June 12, 1975, which meant that she had to

step down from the posL

2. After the dedasion of the High Court, opposition parties started demanding

Indira Gandhi to step down
w3 25. () MERT &1 g5 & agar
(if) TEut & @
Ques 25. 1. Promotion of arms race.
2.Promotion of wars.

Hyar

OR
AT ORI &3- Feiae |, R |, @S |, g AT SR

Central Asian countries:- Kazakhstan, Kyrgyzstan, Tajikistan, Turkmenistan and
Uzbekistan
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W 26, A (GETE) T T & & 7% e MeTeiad b

1. gfEyor ot & Saar & earor ud Shas-FI @ U

2,  gfEvr vfimr & & & Avw wefeE IR TR W aenT)
1. To improve the welfare and standard of living of the people of South Asia.
2. To increase collective self-reliance among the countries of South Asia.

WA 27, HecRISErd HTS 61 HEAHAT & g THT FHT §-
() RfF=T g & Fog g o ot & anfeagel s & @

(i) o TAkiET A2 (ARTF 9w, SATEY) & et 7R &6 & [

Question 27. There are two main reasons for the need for international

organisations:

(i) For peaceful resolution of disputes between different states.
(i)  To jointly tackle certain challenging issues (global warming,

diseases).

Wi 28, fva & AwSmredewe &1 T oy ¢ dvdeeeor & sw o afdoumelr it
frdvet s o TEERT o fava F wEI A B SEW fna o Rt wegfot & il
F T Tl & | AFsIAeSEOT & IHeid Rfe 2ut & A o, @ oW i ga o &
Zoid o T &, o & 3RE usar

Question 28. McDonaldization of the world means that in this era of
globalization, the culture of powerful countries, especially America, has spread
in the world. This has endangered the exisience of vanous cullures of the
world. Under McDonaldization, the customs, food habits etc. of varous

countries are being molded in the way Amenca wanis.
T

OR
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thdieoT- v Haurenm & w9 A vl § gA afe B R fEen, o, e va el
o T UF S W @ o A e PRl vy & amarenen) $vdeor F e Rfte it K
AT TOT 9§ SUNR F OO AT S §, S BR 3y aer g@n i
At & ande g

Globalization- As a concept, we mean the movement of ideas, goods, capital
and intellectual property from one country to another without any restnction.
Under globalization, trade i1s conducted freely between different countnies, which

Is subject to the rules set by an international institution.
Wi 29 1. fiw womelr F 0F qur e o, e & canfRat o tieewier T 6 sl

2.[02 & & REw 9 WY ¥ 0 o B S @R, afF Segiad aErE gl #)
3R v A A e & e B S e, a1 | A e 9ed)
4. ST SR 9T G T §U Fes Ud gRel i wfie R s el

Question 29 1. Such reforms should be made in the education system so that

the outlook of the countrymen becomes broad.

2.5pecial attention should be paid to the development of backward areas so

that balanced development can take place.

3. The problem of unemployment and poverty should be solved so that
discontent does not grow among the people.

4. Clean and transparent administration should be established by curbing

administrative corruption.
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wa 30. 1. FEes & g sfe va wmfew siaa & RAfFeT e 7 waae =ia w0
AT # SeAtar @ ST wear o)

2.fgS & ATeTA ¥ T AST SO WS 3eTe R ST wear °T)
3.0 & EET T @ FeAVIET 99 & §9 37 vufie RBear S awar any

Question 30. 1. Through planning, the society could be improved by

establishing coordination between various parts of economic and social life.
2. Through planning, official production could be done with less resources.
3.Through planning, the state could be established as a welfare state.
Hgar
W 30. Aelar T & OR AeT e HEfarad i

1. FEfSis d Teios 9RfRefadl & e & W gu Sv & Aew & N R s
OO &A1, Wad ArAfes vd Wiffe —ag &9 gl a6l

2 hr#ﬁﬁﬁ,mvﬁﬁﬂﬁm“mﬂﬂmmmsﬁmm
HEXAHATH & oAl A HA @R usd §Y, 3-8 gefd & §Fmaan dene)

3. @AT 9T e gaadta s f serfa @ Arama war W A e st A s
aw-Ad da=)

The four main functions of the Planning Commission are as follows:

1. Keeping in mind the social and political conditions, to prepare such plans
for the development of the country, which can establish social and
economic justice.

2. To estimate the physical, human and technical resources of the country
and to find the possibilities of increasing those resources which appear to
be less than the nalional needs.

3. To evaluate the progress of the current five-year plan on ime and to

make necessary coordination between policdes and measures.
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Wi 31, WHE HROT A- 1. 5T il & S 7 g4 & St Sod S=Nged & Uehe
wusdis A 12 517, 1975 W v uifta v ar o, fGwe o1 59% g 9 oS 2|

2.3%0 Ao & @V 3T o & wie, fawelr g sieew it & 9 oise o #7197 oW oer
i

3. TR & AU o . HeEEE Sl On) S W ANE©T F Aqey 7 e weg Ao
== FOER & ey @ = 9o |

Ques 31. 1. Indira Gandhi's Lok Sabha election was declared illegal by the
single bench of the Allahabad High Court on June 12, 1975, which meant that
she had to step down from the post.

2. After the decision of the High Court, opposition parties started demanding

Indira Gandhi to step down.

3. JP movement was going on against the government. A huge 'Parliament
March' had been organised aganst the government under the leadership af Jai

Prakash Narayan.

W 32, IS A W FANT FEAWE IW Te=iia @ AT &, SR wanwiea & e W

R TSATes gl 3 gAmat & 95e A7 37 At & arg e (Alliances) @ fRTer
Fer & AW A AT A S ST A% F9 @ TgAG WIS F e &, 95 dew a1 T T
T I & 5 Tl § TSa-UA T Hiewt e & gl gielr §, a4 san oW
oart T2 d & T 590 TE AT 5arus od Td &, 3910 feaeuar o feAmor g
HUR 9T AET B &

Ques 32. By coalition politics, we mean that politics in which, with the aim of
gaining power, different political parties form alvances before or after the
general elections and the alliance which jointly gels majority in the general

elections. He forms the govemment at the central or state level. Coalition

politics is an unslable type of politics, because in it old alliances keep breaking
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and new alliances keep taking their place, because alliances are not formed on

ideological basis.
Wi 33, 1. @Rl &9 & ot @ e @ S|
2. . AraTaIT 8 & <l & 7 wen e Aead &
3. 6HTATT &1 & &3 & ACH HAS, NS U JEpis HedleT ol aamdi|

Ques 33. 1.To achieve economic development of the countries of the respective

region.
2 . To develop joint trade among the countnes of the respective region.

3.To promote social, economic and cultural cooperation among the countries of

the respective
Hyar
OR

A 1914 & 7 & 7% AF g WA T@ FF IFFR Fm o1 1959 A O 2@ AN &
TEETE Ud W (G0A HEUTOW 9e3N) 819 & 1,28,000 o9 Thee 817 U3 grar o9vr G
o1l T o HEgaN, 1962 # HNA W WA R AR degra & Hens i A1 9 @ee @l
o 3T ®Rg & @eTHeT 90,000 @@ ey 81T O & aao 7 )

China rejects the McMahon Line drawn in 1914. In 1959, China claimed
1,28,000 sq km of India's Ladakh and NEFA (present-day Arunachal Pradesh)
region. China invaded India in October 1962 and occupied the Aksai Chin
region of Ladakh. Now about 90,000 sq km of India's area is under Chinese

control.
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W 34, (1) TRAT RT-ART ST §F Ag & AT 307 oo ¢ 3 ofteeansT se
faafee &7 aoar & 3R soF Tae & Qv SaaEg-aa A S B

(il) FAI-AR AoEae- MR Fasafedl ®F W $a ARG S0 & HT T Tl asarg
FIaEAl H IH o 6
Ques 34. (1) Kashmir problem- India says Kashmir is an integral part of India

and Pakistan says it i1s a disputed temtory and demands a referendum to

resolve it.

(n) Cross-border terrorism- Pakistan trains termmonsis and sends them to India

and they carry out terronist acliviies here.

vt 35. Terdenfient o #EF Rl e @ e giar &1 @9ed U5g & @i 7 sael Y B
[ aitwg & T U Tl weEr T AeEdl SanT T qie, #F FiE e o @
UehedT| /LT g & Ted & HJER AT FOoIr 9we, eany it @ve s arel @l Wi &
T 3 g UF F W §EFT AT & &9, o aF W it AT g i

Ques 35. Velo means to stop any action. In the context of the United Nations,
it means that any one permanent member or members of the Secunty Council
stop the Security Council from taking any decision. According to the Charier of
the United Nations, if one of ils permanent members voles against any
resolution to be passed by the Secunty Council, then that resolution will not be
passed.

Har

1 STalr, 1995 #F TIa g =4 d9re- favg = & mafag va Rafsm & aen
U T £, o W W ET U & fAT faar fRer Sgwm & sai oty Y g e &in gl
The World Trade Crganization, established on January 1, 1885, is an

organization that regulates and controls world trade. It is an organization which
makes amangements for all member slates to do business without any

discrimination.
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WA 36. Waad #9 & f@ued & g aeaias HReT 3-

1. ®fagd 99 & deried g P S HieT 1 an & 3w v Teian
U T o)

2. RRTT A & MO B FATT H [OGAG HOHGA SeH o IO o) 5 TURTSAr A
ARl & HEOT §H WA OF 9¢ 9 o7 R 5 9 awasr & REEer S8 @ o
i

Ques 36. 1. The then President of Soviet Union Mikhail had carried out
economic and political reforms of restructuring and openness.

2. The feeling of nationalism had taken birth among the people of the
republics of Soviel Union. The discontent of the nationalists in these
republics had increased to such an extent that the rulers had lost control

over it.

WA 37. 99 ¥R FOT G o Tg i vT ASnoE T W AT TOsT gH un| 'y A
sereda SRR o T 0 & O By A @ Temler § ATy adE el SRa A
el gFar & 23 &) oE e aEed IF a0 B efde e 34 e
& WA B, S I & g W gU e Ret &1 ofd & v v 6

AR &@RT e AT & A 9ae & fefaida aro ® 8

1. sfft& qriMATTA GHd o JafAaRE deer & R B A 53 & @ gl &
T AN & FAegaedr g tHE Fec-oged 6l o off| O & &30 o e S R s
SEY O AT FE Y G A aE # iR U e I & R S awar o

2. T Afe-FruRer-3 R Aefavderar f Aifa T oA g &R e d e g s,
ol aF Faad fadar AT & FiRer A5 & oan, a4 g® Hued Aif s e & Ra A
i & gl

3.gren & AT Afg A efardar £ Aif ® weaet AR e ar w@faad e A
WA @ S, @ S/ 3U € W [ET & AU W ST ISaTl S SHA AGA G A
AT e & Sl
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Ques 37. When India became independent, it was quite backward in economic
and political terms. Also, the international conditions were such that India found
the policy of non-alignment meaningful. India started the Non-Aligned Movement
with the third world countries. The Non-Aligned Movement is a movement of
those non-aligned countries, which are trying to fulfill their interests by staying

away from bloc politics.

The following are the reasons for India adopting the peolicy of non-alignment:

1. Economlc reconstruction- Due to being a victim of colonial exploitation
for a long time and the partition of the country, the economy of India
had become badly disorganized. In such a situation, it was necessary to
develop the country economically and this work could have been done

easily without joining any bloc.

2. Independent policy-making- If India had joined any bloc by not adopting
the policy of non-alignment, then it would not have been able to
formulate an independent foreign policy, because it would have had to

formulate its policy in the interest of that bloc.

3. Sense of security If India had joined the American bloc or the Soviet bloc
by adopting the policy of non-alignment, it would have had to work for the

secunty of that bloc. This would have created its own securnty problem.
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Ques The goals and objectives of the foreign policy of the state are decided
on the basis of its national interests. This also applies to India. As far as the
goals and objectives of India's foreign policy are concemed, scholars have

different opinions on this. The objectives of India's foreign policy on which all

scholars agree are as follows-

1. Security- Security as an objective of foreign policy is a self-evident
element, because it maintains termtonial unity and integnty. The ongoing
political instability in the Indian subconlinent is a senous threal to India’s
security. From this point of view, India's securty is not limited to India
alone, but it also ensures the security of the entire subcontinent. India
has always opposed such policies which worked to weaken the security
of this region.

2. Economic development- Economic development is an end in itself, but it
is also a means to establish and strenglthen demaocracy. Pt. Nehru believed
that a strong economic system is essenlial to make democracy successful.
For this, he considered planned economic development essential. For
economic development, India depends on technical and capital assistance
from developed countries. One of the reasons for India adopting the poficy
of non-alignment has also been that economic and technical assistance
should be taken from whichever group 1s available for economic

development.
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3. International peace- India can develop itself only in a peaceful
environment, therefore, foreign policy makers have worked to promole
international peace. India has supported peaceful resolution of international
disputes. India had taken the Kashmir issue to the United Nations for a
peaceful solution. Apart from these, there have been two other objectives
of Indian foreign policy-

1. Providing freedom to the common people- Indian foreign policy has
always strived to provide freedom to the common people. For this, India
has supporied the freedom movements started by the people of Asia and
Afnca and has opposed the policy of racial discnmination.

2. Protection of the interests of people of Indian origin living abroad- It
has always been the endeavour of Indian foreign policy makers to protect
the interests of people of Indian ongin living abroad. This question
became important when the governmenis of many countries began 1o

disqualify people of Indian origin and started making laws against them.
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Clues 38. Regional aspirations have been expressed in many forms in India.
The birth of regicnal parties is the main expression of regional aspirations.
There have been many reasons for the origin and development of regional

parties in India; such as-

1. Geographical reasons- Many differences can be seen in India from the
geographical point of view. The geographical conditions of the country
have kept some areas separate from other areas of the country. Even
sometimes different geographical conditions can be seen in the same
stale.

2. Religious reasons- People of many religions live in India. It has often
been seen that when people of a particular religion are in large numbers
in a region, political ambitions are born in them. In such a siluation, the
leaders of that particular religion form regional parties on the basis of
religion 1o get public support; Like Akali Dal and Shiv Sena

3. Economic Reasons- In India, not only before independence, but even
after it, some regions developed more and some developed less,
because the politicians who came to power, paid full attention to the
development of their region, due to which other regions lagged behind in
the race of development. Later, the people of such regions became

aware and formed regional parties for the development of their region.
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Uttarakhand Kranti Dal came inte existence demanding the development

of the hilly region in Uttar Pradesh.
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Ques 31 October 1984, Prime Minister Indira Gandhi was assassinated by her
bodyguards, enraged by the military action taken by the Indira Gandhi
govemnment in the Amntsar Golden Temple complex on 5 June 1984, Since
both her assassins were Sikhs, anti-Sikh nots began in vanous paris of the
country the next day, which continued for three days. The main center of ant-
Sikh riots was the country's capital Delhi. The Sikh public was deeply shaken
by the killing of Sikhs in these riots. In such a siluatien, the government had to
form the Ranganath Mishra Commission to investigate the anti-Sikh riots.
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Ques 39. The environment has been getting polluted for a long time. The main

factors responsible for environmental pollution are-

1. Western thinking Westemn thinking is responsible for environmental
pollution to a great extent, because it promotes matenalism. Western
Chnstian society lives according to the religious belief that whatever Is
there on this earth, God has sent man to enjoy it. Due to this
matenalislic thinking, Western society has exploited nature
indiscriminately,

2. Population growth- In the last 50-60 years, the world's population has
increased very rapidly. Due to the high population, there was a need for
more food, clothing and shelter. To {fulfill these needs, more land, water,
wood, raw material and food grains were used. This promoted the
indiscriminate use of natural resources.

3. Deforestation and soll erosion Deforestation started to fulfill the basic
needs of the person. Which started soil erosion. Due to continuous
deforestation, the incidence of floods has increased and bicdiversity has
decreased. Due to deforestation, the amount of carbon dioxide in the

atmosphere has increased and this has polluted the environment.
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Ques At present, all countries are concemed about environmental pollution. To
protect human existence, it is very imporiant to protect the environment from
getting polluted. The following measures are necessary to be taken for

environmental prolection-

1. Need for holistic life For environmental prolection, it Is necessary 1o
abandon matenalistic thinking and instead emphasize on holistic thinking.
Indian thinking is one such thinking, in which emphasis has been given
on the protection of trees, plants, animals, birds, forests and rivers.
Therefore, it is necessary to adopt holistic Indian thinking for

environmenlal protection.
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2 Population control- The world’'s population is increasing very fast. If it
continues to grow at this pace, then by 2025 it will reach eight billion.
Population growth increases envircnmental pollution in many ways, hence il is

necessary io control it for environmental protection.

3. Forest and wildlife conservation It is necessary lo ban the indiscriminate
cutting of forests for the conservation of the environment, because deforestation
increases the rnisk of soil erosion and floods etc. Also, conservation of wildlife iIs
also necessary, because their destruction disturbs the natural balance.
Therefore, it is necessary to ban the cutting of trees and hunting of wildlife.
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Ques 40. In simple words, by globalization we mean the unhindered flow of
goods, ideas, services and capital from one country 1o another. This is possible
only when such flow or exchange is regulated by an international institution.

Various scholars have tried 1o define globalization.

For example: 1. In the words of Robertson, “Globalization is a concept related

to the strengthening of the consclousness of world Integration.”

2. According to Richard Falk, “Globalization |s a concept that has been
Imposed on other countries by developed countries. Due to the
process of globalization, the entire world has turned into a global

village.”
The main features of globalization are as follows:

1. Due to the means of transponation and communication, the geographical
distances between states have reduced, and the world has become a

global village.

2. Due to the far-flung reach of electronic media, world culture has been
established. In fact, in practice, world culture is the westem culture,
which the non-western countries are imitating.

3. The labour market has become global. People of one country are going
to another country in search of employment. Brokers and agents are
active in labour exporting countries to meet the demand of the labour

markel.
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Question Arguments in favour of globalisation/Positive side of globalisation
Mainly the following arguments are given in favour of globalisation-

1. Globalisation has increased the flow of capital and its circulation has

become international.

2. Due to the increase in capital flow due to globalisation, the dependence of
developing countries on institutions like World Bank and International Monetary
Fund has decreased.

3. Due to globalisation, backward and developing countnes have been
successful in acquirng advanced technology.

4, Globalisation has increased world trade, due to which people are getting
high quality goods in the domestic markets.

9. Due to globalisation, people have got better livelihood opportunities.
Arguments against globalisation Negative side of globalisation- Mainly the

argumenlts against globalisation
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